fr% IE 1 O 5 Iy_i 1 REDUCED

INEQUALITIES

~ Let's deliver easy—to—hear sounds
z;STAzAig ~SEDIEHREEICEBLEEDOHRE ~

Hte /DA Kol #EH fED BEE AT BFREE
I I Y W B\ kE

™ =
WHEGTER
HMI 2R e k<L TEN/ NI A % BT — - B ALT—L
(2720 IKBRRIRZR 72 E DFR &2 T KA DT E P TEOReEE QD) - M5 EEKIEEQ)
FAH IS TEDREIITEWVWDHDLONEE | |« F o ~ULEf « HRE (N2eHy CO2+0s)

MW=L

RO T, TR RJE AR (2T Ly —)
E1THR KRR "BE
-7 — AT R D @ZE’/)—R%_’&< kfﬂh\% s N NE £2 HZEL R UTCH ORESOEVEEED) [FdB]
7R BZEIRAEIZ /2 o TeRRIZE D52 2 2 2 70725, BOREE |HZELD7E
=7 52 +0 SARDFEFEIZ > THYE
K= 56 +4 DEDHED R0
i 3% 55 +3 -
R 54. 5 +2.5
“WbRE| 56 +4

e (FPBIRG)

723 B2 LML 7-F DO RKEI T O R EI(EEEQ)[ HALIB]

=1 B DEE
- o i BFEOREZ | BZEEDFE
AROHH kg/m - SARDRIEIT > TR
O 1.429 ISR 40 +0 DEN RSN
\E 1,251 NS 42 +2 —IGEOTORA Z B E
> M AAb —
H: 0.09 S 43 +3 1L @i“ R
CO: 1.977 et 45 +o %iﬁ%bz/ué:kﬁﬁf‘%f:
25 1.293 —REb | g 48
>
e 38 ZE 3R “MfbiRFE | KFE F4 BBEDLEBEQD EHYIE
% 3 1 4 LNy T WEE
SN IXVNELE . FD I, XA K& +3
e 54 +4
Ef:h.jf P 7z 5 +4.75
Y e N/ S T
DB 4 5 O T 5 E 72 i) —PRAEIH 6
0 L D J*f %:J\%L 7 REREE T e A<, (ZD (G0 CT= = P ABNEN 6 s LT S s & 7=
I EL 282 WO CE 2R BB T S -0 HER A3 5) —SIEDBEE LS TEDODREINDEDST-EEZAD TR
@”% 5 %%ﬁﬂﬁi%’:/ j\b 7‘//\/1/ S CEDOREIEEBIAIT
D =&
SO EDHE XA
—>HIHL TE N KX o7
R PEE DRI N—=FH RELD
B L DN/ NN FH /NI

L8 O 5 11221
QLB T E F AT A HROFEF 7oz | | S 50 A

J[a <o (CORFEZEREZ W CEZEIRAEIT /2 o T ) iR @5 N DEFR TIIREDFIA TE I B OO ERENDT-D T, /k
% @E%T XX DOEEZEZ TEDIHRBALDH A DD %~
O LD RRAEEAL, TV VR THEDORESE | | 1515

B2, e

275 Lk
NGKY A AP A https://site.ngk.co.jp/lab/no193/
EXAMEE https://exam.fukuumedia.com/rikal—16/




